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INSTRUCTIONS TO CANDIDATES:

Answer four questions in all.

Section A is compulsory.

Answer three questions from section B.

Any additional question(s) answered will not be marked.

Credit will be given for use of relevant sketch maps, diagrams and specific examples.


Turn Over

SECTION A

1. The table below shows South Africa’s balance of visible trade (Rand million) 1970 – 1975.
	Year
	1970
	1971
	1972
	1973
	1974

	
	
	
	
	
	

	Imports
	900.3
	905.6
	1097.2
	1196.0
	1337.9

	
	
	
	
	
	

	Exports
	568.6
	652.2
	776.9
	811.4
	986.9

	
	
	
	
	
	

	Balance of Trade
	
	
	
	
	

	
	
	
	
	
	


Adapted: Understanding World Problems and Development, South African development steps (Moshasha Ngeli Pp. 66 second edition. 1996)

(a)
Calculate the balance of trade for South Africa for each year.
(05 marks)

(b) Suggest a suitable statistical method and portray South Africa’s balance of visible

trade.
(08 marks)

(c) Identify the years in which South Africa’s balance of visible trade was;

(i)
un favourable

(ii)
favourable



(03 marks)

(01 mark)

(d) Give the demerits of using such a statistical method in representing such data.  (02 marks)
(e)
Assess the contribution of such a trade in the economy of South Africa.
(06marks)


SECTION B


2. To what extent have physical factors favoured the development of the fishing industry in
	
	either Chile or Morocco?
	(25 marks)

	3.
	(a)
	Account for the occurance of famine catastrophy in the Sahel region.
	(15 marks)

	
	(b)
	Examine the steps being taken to control the occurance of famine.
	(10 marks)


4. To what extent have physical factors favoured the development of the timber industry in
either Cameroon or Finland?
(25 marks)

5. Assess the contribution of either the Nile water way or the Rhine water way in promotion of
international trade.
(25 marks)

6. (a)Discuss the factors that have led to rapid population growth rate in Africa.   (15 marks)
(b)
Suggest the possible solutions to rapid population increase in Africa.
(10 marks)

7. To what extent has the presence of raw materials encouraged the distribution of manufacturing
industries in either South Africa or France?
(25 marks)

8. Examine the conditions that have led to low level of Agricultural modernization in either

Zambia or China.
(25 marks)
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